

20/9/2019

FUNZIONI COMPOSITE

461 $f(x) = 2^x;$

$g(x) = \sqrt{x} - 2.$

$[f \circ g = 2^{\sqrt{x}-2}; g \circ f = \sqrt{2^x} - 2]$

462 $f(x) = \ln 2x;$

$g(x) = e^{-x}.$

$[f \circ g = -x + \ln 2; g \circ f = \frac{1}{2x}]$

461

$f: A \rightarrow B \quad g: B \rightarrow C$

$g \circ f: A \rightarrow C$ (in realtà è sufficiente che $\text{im } f \subseteq \text{dom } g$)

$f: \mathbb{R} \rightarrow \mathbb{R}^+$

$g: \mathbb{R}^+ \rightarrow \mathbb{R}$

$f(x) = 2^x$

$g(x) = \sqrt{x} - 2$

$g \circ f: \mathbb{R} \rightarrow \mathbb{R}$

$(g \circ f)(x) = g(f(x)) = g(2^x) = \sqrt{2^x} - 2$

$f \circ g: \mathbb{R}^+ \rightarrow \mathbb{R}^+$

$(f \circ g)(x) = f(g(x)) = f(\sqrt{x} - 2) = 2^{\sqrt{x} - 2}$

20/9/2019

$$462] f(x) = \ln 2x$$

$$f: \mathbb{R}^+ \rightarrow \mathbb{R}$$

$$g(x) = e^{-x}$$

$$g: \mathbb{R} \rightarrow \mathbb{R}^+$$

$$g \circ f: \mathbb{R}^+ \rightarrow \mathbb{R}^+$$

$$(g \circ f)(x) = g(f(x)) =$$

$$= e^{-\ln 2x} = e^{\ln(2x)^{-1}} =$$

$$= (2x)^{-1} = \frac{1}{2x}$$

$$f \circ g: \mathbb{R} \rightarrow \mathbb{R}$$

$$(f \circ g)(x) = f(g(x)) =$$

$$= \ln 2e^{-x} =$$

$$= \ln 2 + \ln e^{-x} =$$

$$= \ln 2 - x$$